
 

Analogue  EVO Heater 

Item No Description 

1 Flow Tube 

2 Electrical Enclosure 

3 Analogue No Timer Front Cover 

4 Electrical Access Cover 

5 Neon Lens 

6 Safety Thermal Cut-Out Cover 

7 Control Thermostat Dial 

8 Safety Thermal Cut Out  
(Manual Reset) 

9 Control Thermostat 

10 Left End Fitting (Non F/S) 

11 Right End Fitting (F/S) 

12 M6 Tie Bar 

13 Carrier 

14 M6 Dome Nut 

15 Contactor 

16 DIN Rail 

17 Terminal Block 

18 Element Bridge 

19 Enclosure Screws 

20 M4 Hex Nut 

21 M5 Hex Nut 

22 M6 Hex Nut 

Item No Description 

23 M5 x 10-mm CSK Fixing 

24 M8 Hex Nut 

25 M4 x 6-mm CSK Fixing 

26 M4 Locking Washer 

27 M5 Locking Washer 

28 M6 Flat Washer 

29 Earth Terminal 

30 P-Section Seal 

31 Enclosure Flat Seal 

32 M6 x 90-mm Bolt 

33 Copper Tube Terminal 

34 Analogue With Timer Front Cover 

35 24-Hour Time Clock 

36 Time Clock Gasket 

37 Time Clock Cover 

38 Element Ferrule 

39 PG-9 Cable Entry Gland 

40 End Fitting Gasket 

41 Element Stepped Washer 

42 Heating Element 

43 Element Support 

44 Flow Switch 


